P23012 Wingates Plot 3

Drawing Register: Compass

Please note: All drawings listed below are hyperlinked to the drawings listed.
Please click on the drawing title to go directly to the drawing of your choice.

Works Completed: Structural

Steelwork

Drawing No.

P23012-CEL-Z2Z-00-DR-Y-0001

P23012-CEL-ZZ-00-DR-Y-0010,

P23012-CEL-ZZ-00-DR-Y-0011

P23012-CEL-ZZ-00-DR-Y-0012)

P23012-CEL-ZZ-00-DR-Y-0013

P23012-CEL-ZZ-RF-DR-Y-000

P23012-CEL-ZZ-ZZ-DR-Y-0002

P23012-CEL-Z22-Z2Z-DR-Y-0003

P23012-CEL-Z2Z-2Z-DR-Y-0004

P23012-CEL-ZZ-ZZ-DR-Y-0005

P23012-CEL-Z22-2Z-DR-Y-0006

P23012-CEL-ZZ-Z2Z-DR-Y-0007|

P23012-CEL-ZZ-2Z-DR-Y-0009

Drawing Title Rev
AB 1
round Channel Pla AB1
ase Types Page 1 of AB1
ase Types Page 2 of AB1
AB1

Roof Pla AB1
ical Sectio AB1
AB1
AB
Elevation on GL11 AB1
Elovation on 6L B
AB 1
mlevations & Valley Section| AB1




ERTICAL BRACING

ECC
[ 1o @ @ @D <{> ® @

5600 5450 L 7950 8000 8000 8000 8000 8000 8000 8000

R g 710 4530 | 1360 3190 4120 p4 4000 4000 4000 4000 1940 1940
8 ! ! ec !
| 4 - 131
. Detail- A * * * * 8 § * 7
= - R - . «—L‘“ - - - I S
A Sy = PN 3 e o g T
Dean-A [&) -~ Q w Q
. 8lg 38 33 2 38 Slg
Detail-B v e [ v ' \ N ' | } / ' RSAB0"60'6 S & ' v by
R s g Qs s
9 <V 4 > &
o N o
g \B@C e @,\% S g
; | | 1507 6493 |
E ECC
2 [SINGLE BOLT DM -
22| g, gs @8 2l A |
" VB3 " &
© B o &
8 700] 1010 3890 S i8> $ B
h b T X} C;»“’ © e
% 2 27 PFC 150 75" N B 9
& 2 WHITEWALL POSTS = 8
o ! : @ B
| > 47 9
49 ECC $ ECC
i 225 > S & -~ 27
o Ecel K
g | ﬂ‘
| - | - [ - - - - - - - - - - - - - - - - - - 17 B
Q
B 82—~ NOTE | et
£cc &
/ALL FOUNDATIONS @ -350 BELOW F.F.L (UNO ON PLAN) QQ’\
- (350 = FFL TO TOP O CONCRE‘TE PAD) -
2 8 U/S OF BASE PLATES SET 25mm UP FROM THIS LEVEL 8
«~ @ < @ o 'TO ALLOW FOR GROUT. ‘
> (E U/'S TYP BASE PLATES =-325) ECC
& ) -~ 227
/\5 N BASE TYPE DETAILS AS NOTED ON PLAN ‘7’
B> = ) _ _ W _ _ _ _ _ ~ _ _ _ _ _ _ _ _ _ _ _ I 1
62 — | &
an Qs
Detail- B % @\{9
HE ! Ecc
WINDOW PROPS 3 g® - 8
© @ a w RSAG0"60"6, T ©
N 2 < K K [G]
S sy ) ’a O 2
27 > _§ o o o8 o8 A L
‘ PR $ $ $ s T \
£ R _ _ _ - _ _ _ _ _ _ _ _ _ _ _ _ _ _ = h (’;‘3\/—\ \ _ (B
S
: * * * * &
< g55| ReAG060'6 g 227
| ECC
g Eee’ _ % 3
3 u 8
8 g Q.
ECC = ECC
225 —» | | -« 2271]
|
® gt -t — ®
e &
g Qg
2 ‘ &
. % % =FOUNDATION REQUIRES LAYER OF @
8 = REINFORCEMENT TO TOP OF g
= FOUNDATION TO RESIST BOLT PULLOUT
S ECC ! Ecc !
- 27
&
Y [
¥ 5
3 53
8 s @
| &
ECC ECC
27 > - 2
_ ,@7‘@ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _
S &
o : ©g®
N &
2593 5407 §
8 . N 3
8 & S AN S g
PR Y i s S
¢° & <> & RoA60606 O & 4
4 | \@‘e Nall 4 N2l 4 N [ [ $ 4 Ra &j 4
o
J — — — — — — — — — — — — _ —
* * * * BiE *
131 —> NI - 131
I I I I I I I I I
£ee ' ERTICAL BRACING £cc
5600 5450 ‘ 7950 8000 ‘ 8000 8000 8000 8000 8000 8000
v Qo @ @ @ & & @ &P @ @
FOUNDATION PLAN
P01 FIRST ISSUE 25092023
Cco1 CONSTRUCTION ISSUE 13.10.2023
. Cco2 CONSTRUCTION ISSUE 26.10.2023
FOUNDATION LEVEL co3 CONSTRUCTION ISSUE 24.01.2024
DEVIATION ( 24) FROM SPECIFIED LEVEL. o T roBuir Icsue o
A= -15mm BELOW / +5mm ABOVE REV MARK | REVISION DESCRIPTION REV. DATE

Compass Engineering Ltd EXECUTION CLASS 2

Whaley Road, Barnsley, S75 1HT

FOUNDATION LEVEL TOLERANCE (GENERAL NOTES ! s 355 Tel: 01226 298388 Fax: 01226 283215
HOLDING DO B0LTS SUPPLED BY COUPASS ENG LTD & FXEDBY | | FLTPLTRSA<S2i0,
IGENERAL CONTRACTOR IN POCKETS OR TUBES (76 DIA APPROX) HSRHS/SHS = H Cold Formed (
(£ ANCHORED BUT FREE TO MOVE) ( ) (Sub Grades to be Determined fo BS5950) DRAWING TITLE | Foundation Plan
THREADS AND NUTS TO BE GREASED & PROTECTED FROM DAMAGE CONTRACT Wingates, Bolton
e N e W 7 L1 13
reproduced in whole or part without written authorit -
ISTEEL PACKS T s o L MODELLEDBY | RK__|CHECKED BY: RK__ | DESIGN CHECK : DD | ISSUE : 25.00.2023
NOTE | ORIENTATION. LEVELS AND ECCENTRICITIE: DO NOT SCALE OFF THIS DRAWING CONTRACT NO _| 223042 [ scaLE 120 150 1100
DRAWING No___| P23012-CEL-2Z-00-DR-Y-0001-C02|_REVISION No. g1




Tekla Structures

241,40
=1

il PFC-180*75*20

PFC-180*75*20

c-¢C

‘TYPI

CAL RETURN AT
DOOR POST

241,40
1

= PFC-180*75*20

UB152*89*16
B-B

TYPICAL RETURN AT
COLUMN

P01 FIRST ISSUE 29.09.2023
Co1 CONSTRUCTION ISSUE 13.10.2023
AB1 AS BUILT ISSUE 07.03.2024
REV MARK | REVISION DESCRIPTION REV. DATE

Compass Engineering Ltd
Whaley Road, Barnsley, S75 1HT
Tel: 01226 298388 Fax: 01226 283215

EXECUTION CLASS 2

DRAWING TITLE | Ground Channel Plan

@® ® @
356, 5600 5450 ! 7950 8000 ! 8000 8000 ! 8000 ! 8000 ! 8000 ! 8000 356
[ [ [
71$ | 4530 360 3190 4120 640 3995 4005 ' 4005 3095 | 1940, 4120 | 1940 ‘

N I ! 2
— - — - —T=PFC-180"75"20 — - - - - - - T - T - - . - PFC-180775"20] PFC-180°7520 =] — ~ — PFC-180°75200— - —+ (A)
S PFC TO CUT BACK ‘

e GLAZIN ﬂ ¢ PFC TO CUT BACK orCI sﬁé: “l#o SU|CT o
3 8 ZONE T, . Boor ONSITE 10 SUIT 4000 8000 4000 YARD WALL 500R g 3
8 : b \ ZONE g2 8
& ‘ NO PFC \ ~
T] : - - -t - - - - - - - - - ] - - - - - - - - — B
S o
S 2 & 2
& 2
pre &
™ &

D, - - - - - - - - - - - - - - ] - - - - - - - - -+
: &
£ &

(o) - - - - - - - - - - - - - - ] - - - - 2 - - - (D)

(=)
o~
S 2
2 2 = g
© § | ! 8 «©
Q l L K
o
[l
E - - - - - - - - - g - - - - E - - - - ‘ - - - -(E)
- S
S 2
5 b 2 3
© ;é_j EI)I_ ©
A o
&
D, - - - - - - - - - - - - - - i - - - - r - - - -
L GROUND CHANNEL STEEL X
o
o 2 ALL GALVANISED 5 -
8 5 ‘ & g
< 2
£ %
&
S
o [¥e]
2 b 5 2
3 5 by 3
Sl_) L |
oS a
& L | £
<
S o
3 2 3 3
© o 7 ©
g [&]
. [T
g A &
o | !
&D) - i PFC-180°75'20—=PFC-180*7520—}— - PFC-180*75'20— | - —PFC-18075'20— ] - —PFC-180'75'20— | - —PFC18075"20— | - —PFC-18075'20— ] - —PFC-180*75'20— ] - —PFC18075"20—=] - —PFC-1807520—J7|- —— —~(J)
2 | X 8
I
356 5600 ‘ 5450 7950 8000 8000 8000 8000 8000 8000 8000 356
(1) (9) (8) &) (6) (5) @D (3) 2) (1)
'GROUND CHANNEL PLAN]
4 I & —
2650 7‘ 2650 j‘ 2650 A A
@ @ Steel Grades:
ROAD PIN SUPPLIED FLPLTRon = 9575
BRACKET FOR ROAD PIN AND FIXED BY OTHERS e B bo oot o Eeareg (UNO)
AT 1/3 POlNTS TYP'CAL This Drawing is copyright and may not be

MID BAY GL 11-9

reproduced in whole or part without written authority
from Compass Engineering Ltd
DO NOT SCALE OFF THIS DRAWING

CONTRACT Wingates, Bolton

STATUS AS BUILT

MODELLED BY RK

CHECKED BY: RK

[ DESIGN CHECK : DD

ISSUE : 18.09.2023

CONTRACT NO | 223042

| scaALE

1:25  1:100 1:150

DRAWING No

P23012-CEL-ZZ-00-DR-Y-0010-C01 ‘ REVISION No.

AB1




OUTSIDE
100 | 100 BUILDING
CA)>— - -
Q
» i
S
o ™
? '
=3
&
o | o

BASE TYPE = A

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT =450 BOLT PROJECTION = 150

Tekla Structures

UB 610 * 229 * 101/113
[BASE PLATE = 300 * 25 * 650
8 REQUIRED

BUILDING

75175

CA— 1 =+

<— ECC
264

BASE TYPE =F

4'No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT = 450 BOLT PROJECTION = 150
[BASE PLATE = 250 * 30 * 580]

1 REQUIRED

100 100
-
o
&
f=4
: |
N S
¢ * 3
I w
J -  E—— - -
OUTSIDE
BUILDING

4'No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT = 450 BOLT PROJECTION = 150
[BASE PLATE = 300 * 25 *650]

264

ECC —

75|17
OUTSIDE oL
BUILDING

(10)

BASE TYPE =G

&

<« ECC OUTSIDE
' |BUILDING

227
S ﬂ I+
- L R
275 275
D)
BASE TYPE=C

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT =450 BOLT PROJECTION = 150

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT =450 BOLT PROJECTION = 150

UB 533 *210 *82
[BASE PLATE = 250 * 30 * 580

1 REQUIRED

UB 457 *191* 67
[BASE PLATE = 250 * 25 * 650

7 REQUIRED

-
BUILDING
Ao 1=

275

<— ECC
225

275

75|75

BASE TYPE =H

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES

EMBEDEMENT =450 BOLT PROJECTION = 150

UB 457 * 152 * 52
[BASE PLATE = 250 * 25 *650]
1 REQUIRED

T
225
- e
i | =
-+
‘ 275 275
(1)

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT =450 BOLT PROJECTION = 150

[UB 457 *191 *67 / UB 457 * 152 * 52]
[BASE PLATE = 250 * 25 * 650
6 REQUIRED

180 180

90 | 90
1
o o o
g o o | _
E+ 1 o —-
oo |7
o o o
GROUT HOLE
BASE TYPE=E

10 No M30 x 1000 Lg H.D BOLTS
GRADE 8.8
10 No 150 x 20 x 150 WASHER PLATES
EMBEDEMENT =850 BOLT PROJECTION = 150

UB 610 * 305 * 179
[BASE PLATE = 500 * 55 * 850 (S355)]

4 REQUIRED

THE HD BOLT DESIGN REQUIES A MINIMUM EDGE DISTANCE OF 620MM

FROM ANY TENSION BOLT TO A FREE EDGE OF THE CONCRETE.
IF THIS EDGE DISTANCE IS NOT ACHIEVED THEN THE HD BOLT PULLOUT
CONE SHEAR CAPACITY WILL BE LESS THAN CALCULATED AND WILL
INVALIDATE HD BOLT DESIGN.

FOUNDATION DESIGN ENGINEER TO ENSURE THAT EITHER THE MINIMUM
EDGE DISTANCE IS ACHIEVED OR THAT THE REINFORCEMENT
PROVIDED TO THE FOUNDATION IS SATISFACTORY FOR RESISTING TOTAL
UPLIFT LOADS IN ACCORDANCE WITH THE REQUIREMENTS FOR
SUPPLEMENTARY REINFORCEMENT GIVEN IN

BS EN 1992-4:2018 CLAUSE 7.2.1.2 (2) DETAILING OF SUPPLEMENTARY REINFORCEMENT

FFL

NAVASN

\ﬁqq\q ~
\q\q\\ﬂ <
< 9 SN

NOTE ! WASHER PLATES //'

SEE BASE TYPES

VARIES
TYP 350mm
=
o
o
/| 25mm
,7 74 | GROUT
-
BOLT BOLT
EMBEDMENT  PROJECTION

TYPICAL BOLT SET OUT

PO1 FIRST ISSUE 04.10.2023
Cco1 CONSTRUCTION ISSUE 13.10.2023
C02 CONSTRUCTION ISSUE 26.10.2023
C03 CONSTRUCTION ISSUE 01.11.2023
AB1 AS BUILT ISSUE 07.03.2024
REV MARK | REVISION DESCRIPTION REV. DATE

GENERAL CONTRACTOR TO CHECK SETTING OUT FOR SQUARE
CONCRETE BASES TO BE SMOOTH & FLAT TO TAKE
STEEL PACKS.

NOTE ! ORIENTATION, LEVELS AND ECCENTRICITIES

GENERAL NOTES ! Steel Grades:

HOLDING DOWN BOLTS SUPPLIED BY COMPASS ENG. LTD & FIXED BY

?Em%ﬁ:%o%%@gﬁ?;g&wrgocKEgS ORTUBES (76 DIA APPROX) CHS/RHS/SHS = 355 J2H Cold Formed (UNO)

MOV
ND NUTS TO BE GREASED & PROTECTED FROM DAMAGE.

PFC/UC/UB = S355
FLT/PLT/RSA = 8275

(Sub Grades to be Determined to BS5950)

EXECUTION CLASS 2

Compass Engineering Ltd
Whaley Road, Barnsley, S75 1HT
Tel: 01226 298388 Fax: 01226 283215

DRAWING TITLE

Base Types (page 1 of 3)

This Drawing is copyright and may not be
reproduced in whole or part without written authority
from Compass Engineering Ltd

DO NOT SCALE OFF THIS DRAWING

CONTRACT

Wingates, Bolton

STATUS

AS BUILT

MODELLED BY

RK  [CHECKEDBY: RK | DESIGN CHECK : DD

ISSUE : 18.09.2023

CONTRACT NO

223042 | scaALE

1:10

DRAWING No

P23012-CEL-ZZ-00-DR-Y-0011-C03 ‘ REVISION No.

AB1




Tekla Structures

75,75
&
o 8 2
8 o~
J —— _
> R
OUTSIDE
tot | —
ECC
(11)
BASE TYPE =J
4 No M24 x 600 Lg H.D BOLTS

GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES

2 M24* 450 8.8 STUDS

75,75 WITH VINYLESTER HIGH
LOAD RESIN

300 EMBEDMENT

- TESTED TO 50KN

325

4 HD BOLTS IN WRONG
POSITION ON SITE
STILL REQUIRED

o

180

325

180

225
ECC —»

-

-
B ¢ ¢

L
== \ OUTSIDE
# L BUILDING

~— | 13 2* M24 * 450 8.8 STUDS
WITH VINYLESTER HIGH
ECC LOAD RESIN

300 EMBEDMENT
TESTED TO 50KN

BASE TYPE = K

EMBEDEMENT =450 BOLT PROJECTION = 150

UB 457 * 152 * 52

[BASE PLATE = 250 * 25 * 650
1 REQUIRED

75,75
OUTSIDE
CA) - S (A
S | & > 8
el e
BASE TYPE =P

4'No M20 x 450 Lg H.D BOLTS
GRADE 8.8
4No 100 x 10 x 100 WASHER PLATES
EMBEDEMENT = 300 BOLT PROJECTION = 150
UB 305 * 165 * 40
[BASE PLATE = 250 * 10 * 350]

2 REQUIRED

4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT = 450 BOLT PROJECTION = 150

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8

UB 457 * 152 * 52

[BASE PLATE = 250 * 25 * 750
1REQUIRED

OUTSIDE ECC —>
BUILDING 225

B = = =
(B) o e e
g ‘

i - -
275 275
(11)

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT =450 BOLT PROJECTION = 150

UB 457 * 152 * 52
[BASE PLATE = 250 * 25 * 650

1 REQUIRED

2*M24 * 450 8.8 STUDS
WITH VINYLESTER HIGH

‘ LOAD RESIN
ECC 300 EMBEDMENT
- | 131 TESTED TO 50KN
OUTSIDE
o | o BUILDING
=1 T
§ A= {B 1 [Te) 8
8 8 i
5] !
g L lots|. RGO
N
« g STILL REQUIRED
¢ |
2* M24 * 450 8.8 STUDS
75|75 WITH VINYLESTER HIGH
LOAD RESIN
300 EMBEDMENT
TESTED TO 50KN

BASE TYPE = L

4 No M24 x 600 Lg H.D BOLTS
GRADE 8.8
4 No 150 x 10 x 150 WASHER PLATES
EMBEDEMENT =450 BOLT PROJECTION = 150

UB 457 * 152 * 52

[BASE PLATE = 250 * 25 * 750]
1 REQUIRED

g

150

+ ¢
62 —»> [TOGLS
ECC
o)
BASE TYPE =R

4 No M20 x 450 Lg H.D BOLTS
GRADE 8.8
4 No 100 x 10 x 100 WASHER PLATES

150 | 150
i

|
- 1
I
1T s
> e
|
BASE TYPE =M

4 No 100 x 10 x 100 WASHER PLATES
EMBEDEMENT = 300 BOLT PROJECTION = 150

4 No M20 x 450 Lg H.D BOLTS
GRADE 8.8

UC 203 * 203
[BASE PLATE = 400 * 20 * 400}

5 REQUIRED

@
.
*
I
I

119
150

ECC

150

.
A4

-

(10)

4'No M20 x 450 Lg H.D BOLTS
GRADE 8.8
4No 100 x 10 x 100 WASHER PLATES
EMBEDEMENT = 300 BOLT PROJECTION = 150

SEE PLAN FOR
OFFSETS

188 TOGL9
»
.
BASE TYPE=N

4 No M20 x 450 Lg H.D BOLTS

4 No 100 x 10 x 100 WASHER PLATES
EMBEDEMENT = 300 BOLT PROJECTION = 150

GRADE 8.8

UC 203 * 203 * 46

[BASE PLATE = 350 * 25 * 400

1 REQUIRED

BOLT

T

VARIES
[TYP 350mm
=
o
[¢]
7| 25mm
4 | GROUT
-

NOTE ! WASHER PLATES V

SEE BASE TYPES

TYPICAL BOLT SET OUT

BOLT
EMBEDMENT  PROJECTION

P01 FIRST ISSUE 04.10.2023
co1 CONSTRUCTION ISSUE 13.10.2023
Co2 CONSTRUCTION ISSUE 17.11.2023
AB1 AS BUILT ISSUE 07.03.2024
REV MARK | REVISION DESCRIPTION REV. DATE

EMBEDEMENT = 300 BOLT PROJECTION = 150 UC 203 * 203 * 86
UC 203 * 203 * 46 [BASE PLATE = 400 * 20 * 400
[BASE PLATE = 400 * 20 * 400 1 REQUIRED
3 REQUIRED
GENERAL NOTES ! Steel Grades:

STEEL PACKS

HOLDING DOWN BOLTS SUPPLIED BY COMPASS ENG. LTD & FIXED BY
GENERAL CONTRACTOR IN POCKETS OR TUBES (76 DIA APPROX)

(LE ANCHORED BUT FREE TO MOVE)

'THREADS AND NUTS TO BE GREASED & PROTECTED FROM DAMAGE
GENERAL CONTRACTOR TO CHECK SETTING OUT FOR SQUARE
CONCRETE BASES TO BE SMOOTH & FLAT TO TAKE

NOTE ! ORIENTATION, LEVELS AND ECCENTRICITIES

PFC/UC/UB = S355

FLT/PLT/RSA = 8275

CHS/RHS/SHS = 355 J2H Cold Formed (UNO)
(Sub Grades to be Determined to BS5950)

EXECUTION CLASS 2

Compass Engineering Ltd
Whaley Road, Barnsley, S75 1HT
Tel: 01226 298388 Fax: 01226 283215

This Drawing is copyright and may not be

from Compass Engineering Ltd

DO NOT SCALE OFF THIS DRAWING

DRAWING TITLE | Base Types (page 2 of 3)
CONTRACT Wingates, Bolton
STATUS AS BUILT

reproduced in whole or part without written authority

MODELLED BY

RK  [CHECKEDBY: RK | DESIGN CHECK : DD

ISSUE : 18.09.2023

CONTRACT NO

223042 | scaALE

1:10

DRAWING No

P23012-CEL-ZZ-00-DR-Y-0012-C02 ‘ REVISION No.

AB1




©

. ECC

62 —» [TOGLS

(B) + *

150

ECC
119

150 | 150

BASETYPE=T

4 No M20 x 300 Lg H.D BOLTS
GRADE 8.8
4 No 100 x 10 x 100 WASHER PLATES
EMBEDEMENT = 180 BOLT PROJECTION = 120

Tekla Structures

UC 203 %203 * 46
[BASE PLATE = 400 * 20 * 400
1REQUIRED
- _ o
T o
I :
ﬁ S

OUTSIDE
BUILDING 75|75

BASE TYPE =Y

(B)

1 No M20 x 300 Lg H.D BOLTS
GRADE 8.8
1 No 100 x 10 x 100 WASHER PLATES

EMBEDEMENT = 180 BOLT PROJECTION = 120

RSA 60 *60 * 6
[BASE PLATE = 150 * 10 * 150]
4 REQUIRED

OUTSIDE
75,75 BUILDING

90 | 90

1
151

ECC —»

BASE TYPE=U

2 No M20 x 300 Lg H.D BOLTS
GRADE 8.8
2 No 100 x 10 x 100 WASHER PLATES
EMBEDEMENT = 180 BOLT PROJECTION = 120

PFC 180 * 75 * 20
[BASE PLATE = 180 * 10 * 250}

2 REQUIRED
SEE PLAN FOR
ECC
68 _»
.
-
188
BASE TYPE=Z

OUTSIDE
BUILDING

1o
|
90 90 |!

ECC

-

75|75

BASE TYPE =V

2 No M20 x 300 Lg H.D BOLTS
GRADE 8.8
2 No 100 x 10 x 100 WASHER PLATES

EMBEDEMENT = 180 BOLT PROJECTION = 120

4 No M20 x 450 Lg H.D BOLTS
GRADE 8.8
4 No 100 x 10 x 100 WASHER PLATES

EMBEDEMENT = 300 BOLT PROJECTION = 150

UC 203 * 203 * 46
[BASE PLATE = 350 * 25 * 400]
1 REQUIRED

PFC 180 * 75 * 20
[BASE PLATE = 180 * 10 * 250}
4 REQUIRED

ECC
OUTSIDE
o
ﬁr
Sl
75|75

BASE TYPE = W|

1 No M20 x 300 Lg H.D BOLTS
GRADE 8.8
1No 100 x 10 x 100 WASHER PLATES

(B)r— - - (B
© I
e = e
75|75 m
BASE TYPE = X

2 No M20 x 300 Lg H.D BOLTS
GRADE 8.8
2 No 100 x 10 x 100 WASHER PLATES
EMBEDEMENT = 180 BOLT PROJECTION = 120

EMBEDEMENT = 180 BOLT PROJECTION = 120 PEC 150775 18
RSA507507 6 [BASE PLATE = 150 * 10 * 250)
[BASE PLATE = 150 * 10 * 150] 5 REQUIRED
2 REQUIRED
FFL =
S
 E 5
a2 5 o
g &I oc £% 4 3¢
= N > 999 & =
ISR NEPENI -
{1 R \\1 \qﬂ\q f\;qq\ g %
9?3 Q3% | Te
~ . w
NOTE ! WASHER PLATES //'
SEE BASE TYPES
PO1 FIRST ISSUE 04.10.2023
Cco1 CONSTRUCTION ISSUE 13.10.2023
AB1 AS BUILT ISSUE 07.03.2024
REV MARK REVISION DESCRIPTION REV. DATE
Compass Engineering Ltd EXECUTION CLASS 2
Whaley Road, Barnsley, S75 1HT
GENERAL NOTES ! Steel Grades:

HOLDING DOWN BOLTS SUPPLIED BY COMPASS ENG. LTD & FIXED BY
GENERAL CONTRACTOR IN POCKETS OR TUBES (76 DIA APPROX)

(LE ANCHORED BUT FREE TO MOVEE)

'THREADS AND NUTS TO BE GREASED & PROTECTED FROM DAMAGE
GENERAL CONTRACTOR TO CHECK SETTING OUT FOR SQUARE
CONCRETE BASES TO BE SMOOTH & FLAT TO TAKE

STEEL PACKS

NOTE ! ORIENTATION, LEVELS AND ECCENTRICITIES

PFC/UC/UB = S355

FLT/PLT/RSA = 8275

CHS/RHS/SHS = 355 J2H Cold Formed (UNO)
(Sub Grades to be Determined to BS5950)

Tel: 01226 298388 Fax: 01226 283215

DRAWING TITLE | Base Types (page 3 of 3)

This Drawing is copyright and may not be
reproduced in whole or part without written authority
from Compass Engineering Ltd

DO NOT SCALE OFF THIS DRAWING

CONTRACT Wingates, Bolton

STATUS AS BUILT

MODELLED BY RK ‘CHECKED BY: RK

[ DESIGN CHECK : DD

ISSUE : 03.10.2023

CONTRACT NO | 223042

| scaALE

1:10

DRAWING No

P23012-CEL-ZZ-00-DR-Y-0013-C01 ‘ REVISION No. AB1L




8000 @ 8000 8000 @ 8000

5600 7950 8000 8000 8000
VERTICAL BRACING
[ il [ [ il \ [ I [ I [ [ [ [
T ) i T - 1T i :
CAD - =pHSIS0 73 =CHS114.3'3 ——_JCHS114.3°35 CHS114.3'3.6 [CHS114.3"3.6 CHS114.33.6 [CHS114.3'3.6 CHS114.373.6 S = = = i = - ]
(B [ | | CHs1143:36 CHS139.75.0
T T
% | | oF
7T ‘ s :
)
@ & @
g oy g g g g g g G 3 <
wul S S 3 \%Jé 3 S 5 5 5 5 5 3 %ﬁ E
o 2 2 2 2 2 2 3 2 E ¢ E
[ [ X 4 & 3 i 3 & 3 & i (2o
8
L% Sz g 2 2 2 2 2 2
= (B) - =  — = | —— = n = — —— = = E— — = = — — = B
i g
I 2 * !
x| ¥, I I M 1 ] =Ll U 1 1
i 3 b 8 9 bl & 5 3
T g 2 5 2| 2 4 2 3 g g
I N 3 ¢ & £ £ 5 X £ & 2= 8
P ~ re] Er] =]
I O 8 2 g g E E 3 | | g g @
= o o 3| e = £ g = S &
o D Bl ! | ! ! ! ! ! ! 3 <5 Ell
~ )
ao ‘ &
Detail - A ;
c - ‘ -
| 1
2486 1427 | 8 )
| o N o Jf-
& 9| £ = I P ~ 5 £
226 « = 5 5| paut | b= | < b 3 «
2300 | @ 3 o £ & = 5 > = = S g
3 ] 5 2 N b5 b g
1 ] 139 XS E\ C/*/s,/ il g Bl =t & & el 3 457, éj\
2
[ o 2 ) - El S | 9 sl S 493
!
a 3
D - - - - ’ - e - g - e - - e - - e - -
T I f ol o B[ o [ 151 [
3 9 g 9 g 9 g 9 9
%{ u:J S Sl S Sl S, Sl S S o W
e & i & & & & & & & /W’) o
% & & 3 & 3 & 3 & & i
2 2 2 2 2 2 2 2 2 £
o | \ E Bl E =l E =l E E B o
& & g 8
A-A © | Il U || U U U U U U k] ©
o s, ST
| &

ENLARGED LADDER HATCH

UB610229*125

UBS: UB533*210*92 UB533*210*92 UBS! "
= — e e =
4, e o I N@Z;l R |5§:~§/
1 6 S xS

=

,,
-
=
o

o L3y, %
Detai A ]
- N= = = = & o
% \\C '\\ > Il ] ] ] ] ] ] ? [l %
2060 900 7 o = & & g 5 g g %’.:'
< 2 £ s s 5 5 5 8 %y, 3
] : . . . . .
" AS
s
g > g
. 8 I I I I I I I I I al .
g & S & B N o 3 B E 3 g &
5 9 7 N g 5 57
%\ =l El E E El El S El
0 >, 2l 3 3 S 3 > S 2| oot
%\ B\ :%\ B\ :%\ $\ :?\ :%\ %\ [l
i q : g : g g g 2 g g i
’ : ;;&/ g )
& & o g
« S, b
1933 697 g o 0, 20 >, g
i 0 K\ 1
405 0 H - e | _ o _ | _ I _ _ R _ _ o _ _
6, 9/ B B E B & B g E
Z ol g g g g g g g
j ) 26 | o2 & 0 & gl & g & & [
2 g g g g g 3 g g
O g 2
3 3
= N 3 \QZQM
=
= i
] HS1397°5.0 To114536 OIS 1453 <I,Hs11 336 lWHS“ 336 THSH 336 Hs114.3*3.6I HS114.33.6 THS1143'36, ChSt3.050 4
— - = == = S — - - = = 2 : = - = = r = ! = == = = -
Il 1 I I 1 I I 1 I 1 1 Il
ENLARGED ROOF LOUVRE I 1 ] ] 1 \ ] ] 1 ] 1 1 \
| | | B | | |
VERTICAL BRACING VERTICAL BRACING
5600 5450 7950 8000 8000 8000 8000 8000 8000 8000

an ao &) ® @ ® ® @ @ @ @D

ROOF PURLINS ; S
CLADDING NOTE!
KING SPAN M235065150 (GL 10.2) SCAFFOLDING, NETTING OR ANY OTHER ACCESS EQUIPMENT
KING SPAN M235065220 (GL 1-2 / 11-10) SHOULD NOT BE FIXED TO COLD ROLLED EAVESBEAMS, RAILS
OR PURLIN VEVEERS WITHOUT THE EXPRESS PERMISSION
SINGLE SPAN HEAVY END BAY
CLADDING NOTE ! PO1 FIRST ISSUE 29.09.2023
TUBE TIES @ MIDSPAN ROOF SYSTEMS : THROUGH FIX BUILT UP ROOFING co1 CONSTRUCTION ISSUE 13.102023
IT IS ASSUMED THAT THE LINER SHEETING /SPACER SYSTEM
IS FIXED TO ALL PURLINS TO PROVIDE ADEQUATE €02 CONSTRUCTION ISSUE 26102023
RESTRAINT TO THE PURLINS AB1 AS BUILT ISSUE 07.03.2024
EAVES BRACE @ 1/3 POINTS A ey wai | mevision oescrpTon eV OATE
EXECUTION CLASS 2
E-B ALL COLD ROLLED TO BE DETAILED IN ACCORDANCE WITH e e L75 1HT
PV ALLOWANCE TO MANUFACTURERS HANDBOOK & DESIGN CALCULATIONS. Sieal Grades Tel: 01226 298388 Fo 01226 283215
PFC/UC/UB = S355 . "
WHOLE ROOF EAVE BRACE ASSEMBLIES N LORDING OF ROOE SUEETIG ALLOMED 2SS VETHD
(Sub Grades to be Determinedt o BS5650) DRAWING TITLE | Roof Plan
AT 1/3 POINTS IN EACH BAY ENGINEERING LTD PROJECT DESIGNER CONTRACT Wingates, Bolton
CLEADER ANGLES TO HIPS & VERGE SUPPLIED BY COMPASS ENG LTI T o o e athonit) TS AS BUILT
AND FIXED BY CLADDING CONTRACTOR from Gompnes Engrearng Lig e "™ MODELLED BY | RK__ [CHECKED BY: RK__|DESIGN CHECK : DD__ | ISSUE : 18.00.2023
DO NOT SCALE OFF THIS DRAWING CONTRACT NO 223042 ‘ SCALE 120 125 1:35
DRAWING No PZSOerCELrZZrRFVDR'YVOOOB'COZ‘ REVISION No. ABL




Tekla Structures

6833 6833 6833 6833 6833 6833 6833 6833
I
6853 6813 6813 6853 6853 6813 ; 6813 6853
AP e KUKLE | L e
DIA GsTkg/M o 0 1600, 1800 | 1800 X 226 DI STk 800 | 1600 ) 1800 | 1800 | 1800 , 100 | 1800 | 1800) | 1249 | 1240 AR 425 425
1240 | 1240 1240 1825 .1 \ +13254
1105, 100,52 e — 1 = - 100, 1105 +13254 | ‘
i - z B & = B 4
= B = UB457*191%67 UB457*191%67 UB457*191*67 UB457*191%67 5 ST ] +12990
2 101*67 | | UB457*197 =
1| o 1B KB 2DEG 2DEG ‘ 2 DEG ! 2DEG ‘ 67 Al || — 3 S e
o ! B e
| Ismay] ‘ ‘ ‘ ‘ [ﬁ I | B
2600 1 1% 2600 7T
| *4 Q1% T T UB457*191*6 o B
| r UB4ST™191°67 UBA457*191*67 UB457*191*67 Bl .
HAUNCH ' [HAUNCH ‘ HAUNCH] ‘ | HAUCH 5 ] i
A= | | | | e
| ! B B
| | L9 e
flEci NO NO T 1
I I S
| 3 % PRESET =@ PRESET s 2 ; +12050 | UB610*305*149
i 3= S E N E | CLEAR SADDLE
U — || = d - &
‘ 5 g |
I P =)
| | ENLARGED VALLEY DETAIL
r@] [STAY
] “r
|
|
| s S |
H |Z & H
oI S|
e g ||
| o (ﬁ% |
o 2 B B B B B B B B B B B B B B B B B B B B =
== _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ - - - - _ B KINGSPAN L265070200 @
WITH +6 SLOPING TOP FLANGE 1141
| :
| 27031 27031 | 854 241 386 | 514
TYPICAL MISS FRAME] 0. | +13166
KINGSPAN.M235085150 4 39 KINGSPAN-M235065150
CAD (B) (ED D) D 3 #1292
6833 6833 6833 6833 6833 6833 6833 6833 _—
PURLIN DESIGNED FOR PURLIN SET OUT] PURLIN SET OUT] PURLIN DESIGNED FOR @?LIN SET OUT PURLIN SET OU PURLIN DESIGNED FOR ° 3 [ =
A ASHEOVE A AGOIE s o | ‘ A5 ABOIE e, E e
’ ° g
ﬁ? - S z ! : UeieT 5252 5 usgtsgégz*sz ‘ g UB457*15;52 I e et S UB%; — g ‘ UBLE);?) 220:52 ‘ - 1, . . i sgar)  KINGSPAN-L265070200
2 [2DEG) 2 DEG] SHEE [2DEG] O | PLATE
Y A M q =L
AT 2600 ‘ ‘ ‘ ‘ ° q @ |
I 101 2600 2600 *191* - ‘
| | UB4STI91GT UBAST*191°67 UBAST*19167 asEly | T \
N HAUNCH ' [HAUNCH HAUNCH ' ‘ H e | "
rlﬁﬂ 5y |
i 5 1 T
o
H SIE: NO NO } [ENLARGED EAVES DETAIL|
L - = PRESET PRESET — EQM‘
[ T T T T T T T =2 I
| S|2 | NOTES !
1 2L
ol 2 \ CLADDING NOTE!
|
| = | SCAFFOLDING, NETTING OR ANY OTHER ACCESS EQUIPMENT
| <o | SHOULD NOT BE FIXED TO COLD ROLLED EAVESBEAMS, RAILS
i ‘ ol OR PURLIN MEMBERS WITHOUT THE EXPRESS PERMISSION
i ! OF COMPASS ENGINEERING LTD.
il A o | CLADDING NOTE !
= s H ROOF SYSTEMS : THROUGH FIX BUILT UP ROOFING
o S IT IS ASSUMED THAT THE LINER SHEETING / SPACER SYSTEM
2 &l IS FIXED TO ALL PURLINS TO PROVIDE ADEQUATE
2 P J RESTRAINT TO THE PURLINS.
) )
i | - - i - - -5 - -1 - - i - - T - - - - - - - A DETAIL NOTE !
ALL COLD ROLLED TO BE DETAILED IN ACCORDANCE WITH
27332 27332 (-325 MANUFACTURERS HANDBOOK & DESIGN CALCULATIONS.
NO LOADING OF ROOF SHEETING ALLOWED UNLESS METHOD
PROPOSED IS SPECIFICALLY APPROVED BY COMPASS
'SECTION ON GL 101 ENGINEERING LTD PROJECT DESIGNER
CLEADER ANGLES TO HIPS & VERGE SUPPLIED BY COMPASS ENG LTD
AND FIXED BY CLADDING CONTRAGTOR
(D)
1 7 ] [
‘ 14400 ‘ P01 FIRST ISSUE 26.09.2023
! ! co1 CONSTRUCTION ISSUE 13.10.2023
7200 | +14380 ABL AS BUILT ISSUE 07.08.2024
o REV MARK | REVISION DESCRIPTION REV. DATE
o~
13 t Compass Engineering Ltd EXECUTION CLASS 2
Ty cv— Whaley Road, Barnsley, S75 1HT
eel Gra N . .
BT e TeT o UB457 197757 Stecl Grades: Tel: 01226 298388 Fax: 01226 283215
§ ghzgﬂé?g:;fgggs J2H Cold Formed (UNO)
LAP E (Sub Grades to be Determined to BS5950) DRAWING TITLE | Typical Section
PURLIN = CONTRACT Wingates, Bolton
This Drawing is copyright and‘may not‘be ) STATUS AS BUILT
[ENLARGED CROWN SHEET DETAIL e o bt iten & | [MODELLED BY | RK__|CHECKED BY: RK | DESIGN CHECK : DD | ISSUE : 18.00.2023
DO NOT SCALE OFF THIS DRAWING CONTRACT NO_| 223042 | scALE 120 175 1:100
DRAWING No | P23012-CEL-7Z-ZZ-DR-Y-0002-C01| REVISION No. ABL




Tekla Structures

13170
{ P
F
&
11890
|
|
|
8 |
8 | TOES
| DOWN
|
10090 gl | e
J L F
o |
8 I
9135
|
|
|
o |
S8 I
- |
|
7335 !
|
|
|
g |
- |
|
5535 L
|
|
o |
=3 |
~ |
|
735 ‘
|
|
|
8| 241!
B S TOES
‘ DOWN
2000 ! pd
|
|
|
S |
x | TOES
| DOWN
|
200 e
S& S8
-
A-A
TYPICAL SECTION|

PFC/UC/UB = S355

FLT/PLT/RSA = 8275

CHS/RHS/SHS = 355 J2H Cold Formed (UNO)
(Sub Grades to be Determined to BS5950)

11 10 4 2
- 5600 5450 @ 7950 8000 8000 @ 8000 8000 8000 8000 8000
———CH$139.7*6.0——+4— " ‘ . 4 CHS114,3*3.6———————CHS$130.7*5.0————
= H——CHS114.336 CHS114.3"3.6 CHST14.336 CHSTI4.336 CHST14.336 CHST14.33.6 T oHSTiASE—x - =
& RSy
I I I I —D‘
C/‘/S
4 739 >,
‘ ‘ ‘ ‘ i s, ‘
. =
3] Hxas\”ﬁj ' ‘
= _ _ _ _ DlEm S _
Y 5| I N & N ol 457 N =R
g g 2 = . 2 2 JE Tul, & 2
= = =) =] F =) =) - .0 =] Q
==PFC-180*75*20 -—==PFC-180*75"20 : PFC-180*75*20. : PFC-180*75*20. - PFC-180*75*20. ‘ ==PFC-180*75*20. PFC-180*75*20. : PFC-180*75*20. : PFC-180*75*2 PFC-180*75*20. =
= = = =5 = = s = = = = = — = T = = — = T— = ———— = = =
BRACING FINISHES TYPICAL STRUT] 1950 |1140 4910 BRACING FINISHES b
‘ AT FOUNDATION SYSTEM ! AT FOUNDATION
.
SIDE RAILS :
KING SPAN M235065150
C SINGLE SPAN SLEEVED JOINTS
‘ 2No TUBULAR TIES GL 1-9
‘ I oL +10155 1No TUBULAR TIES GL 9 - 11
RSA125°75*8 ‘ - (+0) o 2No SETS OF WIRES PER BAY
f— C—— 241 | ©
RSAB0*60°6 - -325 ) -
+9935
@D
F-F
=3 D-D
S MID SPAN PROP
O
2 & FOR DOOR [CLADDING CHANGE]
] b
= o
2 2
B B [ - NOTES !
v v @ | CLADDING NOTE!
SCAFFOLDING, NETTING OR ANY OTHER ACCESS EQUIPMENT
- - 1 - - - - - SHOULD NOT BE FIXED TO COLD ROLLED EAVESBEAMS, RAILS
C OR PURLIN MEMBERS WITHOUT THE EXPRESS PERMISSION
( J ) OF COMPASS ENGINEERING LTD.
c-c CLADDING NOTE !
‘_A’ B B @ ROOF SYSTEMS : THROUGH FIX BUILT UP ROOFING
5 IT 1S ASSUMED THAT THE LINER SHEETING / SPACER SYSTEM
,J] o [ L IS FIXED TO ALL PURLINS TO PROVIDE ADEQUATE
= RESTRAINT TO THE PURLINS.
= DETAIL NOTE !
1140 E-E ALL COLD ROLLED TO BE DETAILED IN ACCORDANCE WITH
MANUFACTURERS HANDBOOK & DESIGN CALCULATIONS.
B-B NO LOADING OF ROOF SHEETING ALLOWED UNLESS METHOD
PROPOSED IS SPECIFICALLY APPROVED BY COMPASS
TYPICAL BRACING ENGINEERING LTD PROJECT DESIGNER
OFFSET CLEADER ANGLES TO HIPS & VERGE SUPPLIED BY COMPASS ENG LTD
AND FIXED BY CLADDING CONTRACTOR
PO1 FIRST ISSUE 20.09.2023
co1 CONSTRUCTION ISSUE 13.10.2023
co2 CONSTRUCTION ISSUE 26.10.2023
AB1 AS BUILT ISSUE 07.03.2024
REV MARK | REVISION DESCRIPTION REV. DATE
Compass Engineering Ltd EXECUTION CLASS 2
Whaley Road, Barnsley, S75 1HT
Steel Grades:

Tel: 01226 298388

Fax: 01226 283215

This Drawing is copyright and may not be
reproduced in whole or part without written authority
from Compass Engineering Ltd

DO NOT SCALE OFF THIS DRAWING

DRAWING TITLE | Elevation on GL J

CONTRACT Wingates, Bolton

STATUS AS BUILT

MODELLED BY | RK CHECKED BY: RK \ DESIGN CHECK : DD ISSUE : 18.09.2023
CONTRACT NO | 223042 ‘ SCALE 1:20 150 1125
DRAWING No P23012-CEL-ZZ-ZZ-DR-Y-0003-C02 \ REVISION No. AB1




8000 8000 8000 8000 8000 8000 8000 7950 5450 5600
3
HATCHED AREA IS FOR|
| ] e )
I | | I
[ ]
m CHS139.7°5.0 ! L\ CHOT14596 &Jﬁ\‘ CHS114.336 ‘ CHS1143'36 ‘ CHS1143'36 — A i CHS1143'36 CHST1LY'36 1 CHS1143'36 /4{ i CHS139.7°5.0
[ [ L [
s, w c T2y 57 w 15 o ]
39_7»5 | | | f‘ \?\5\@' | 5
s PFC-180'75'20 PFC-1807520 S
‘ = UB203"133+95 ——|IST0
\
> C | | | —
‘ = == Ig ey J FEToRPLATES | G AR | ¢
PrC2007823 AL T | FC-200(523 REQUIRED?? il 739 5, - ~_
S & +8500_ 2
on o) LIS = I
ST S i o T
I 2 o J 5 g UB203133'25 14631
o J g ] = = 5 i
Chre o o & & o e b
=159 7+ o 9 E| [
I 50 | H = o K 2 [l STRUT SYSTEM|
PFC-200°90°30 c g ﬁ# o E PFC2009030 < OW ZONES”™
' I[5m) = ... . e . N = - b - = .- . [ ‘ £
! LA = S L N I L B - N | B203* 13325 g
2 - T P ) g BTE =g
g L 13 g I 5 < g _ - . QJ - 2 g Bl o o H;‘\ SHSTB0'80%50 o]
Q E=x S o & > - L Bl &
f% g P J g 5 g g - G1E] R - g [z S =i ‘ |2 =l
i g S g g e 3 gl . IT IS ASSUMED THAT PROWALL : - (| g 5 - 5 ER
=) g 2 g < IS & . FIXES BACK TO COLUMNS BY D - € -~ b2 N :-) < g::'
3 E| IR 9 & I E| B 2 OTHERS (NO FIXING PLATES -1 il %} N 2 s3]
7# = = B = = f E = BT - E = — - i — - - T 77717 - :;j — = i T
NOTE!!
e | Nl | Il - ] | ‘ s
AT ONDATION o VERTICAL STEEL FOR AT EOLADATION
5645 1140 | 1015 1940 4120 1940 1000 \ 1000 FIXED TO BACK OF RAILS 4000 | 1e5 | 1140 | 1015 Jsao 4120 3190 360 530 710
g w 5

ELEVATION ON GL A

SIDE RAILS

KING SPAN M235065150
KING SPAN M235065250 (WINDOW TRIMMERS)

| O A) SINGLE SPAN SLEEVED JOINTS
2No TUBULARTIESGL1-9
1No TUBULAR TIES GL 9 - 11
| 1200 77f/— 2No SETS OF WIRES PER BAY
| = )
13166 } 9680 A i i L
| ! i 1 - - — -
c E D | - L
[ | o] PFC-180*75*20 | 327 327
© T — | 360 4530 710
g I . | I T
I 2L +10365 ° [N @
11890 L B S I ° : K-K
L | i 2 | & E-E
| _ } } STAYS IN PROWALL
} 8 | ol PLAN ON WINDOWS
s
g | | |
\ ] ! 7870 ‘
|
} | “m:"i[\ +10090 |
| :fP NOTEI! |
| | || |RAILS LEFT OFF BELOW THIS LVL
FOR INSTALLATION OF PROWALL )
o | s | | (FOR THIS TO BE ACHIEVED THE I
8 | 8| 241 S | ROOF MUST NOT BE LOADED OUT | 217
A e < BEFORE PROWALL &RAILS ARE INSTALLED
9135 [ | | *
T | | | i %
ELEVATION
| ! s ] T -
| | 2 | e 4 RSA125'75'8 = Lo
- | b | | 241
8 I
e } | } } SECTION THROUGH
\ ! [ \ GLAZING HEAD
| | | |
7335 f | s | ch E
| = | 2 | 2 | © ol P
| e I | 3 | 2 o
| I | | & g [ -3
S | | | 2411 3 3
= | | | T 2 3
| | | \ = FeT ! [BRACING OFFSETS]
[ 4t ! [ + (40 -~
5535 L | [SLEn | | J
L g | rromewn } Al e — -
241
! | i %J F-F NOTEST
S | o ! - - CLADDING NOTE!
] | Q | | I
+4875 B - |SCAFFOLDING, NETTING OR ANY OTHER ACCESS EQUIPMENT
| c-.¢ ! | SHOULD NOT BE FIXED T COLD ROLLED EAVESBEAWMS, RAILS
| | BN OR PURLINMEVBERS WITHOUT THE EXPRESS PERMISSION
L il L
| | 1 -
&7ﬁ | | = CLADDING NOTE !
| —NT o - o s
6130 IT IS 1! 1 !
! SECTION THROUGH } = - -6 1S FXED 10ALL PURLINS TOPROVIDE ADEQUATE
2 } DOOR HEAD 2 | RAIL FOR FIXING| |
= [OF DOOR TRACI DETAIL NOTE
} \} ANFAGI RERS RANDSOOK & DESIN GALEULATIONS
ENLARGED DOOR
2000 ! / ‘ NO LOADING OF ROOF SHEETING ALLOWED UNLESS METHOD
1 | DETAIL PROPOSED IS SPECIFICALLY APPROVED BY COMPASS
| | ENGINEERING LTD PROJECT DESIGNER
| | 8 CLEADER ANGLES TO HIPS & VERGE SUPPLIED BY COMPASS ENGLTD
24| B | S AND FIXED BY CLADDING CONTRACTOR
= E—— ” ‘
]
= | | |
| |
| |
— 1 [\ ? +4100
o - PO1 FIRST ISSUE 29.09.2023
3
. ) 0 co1 CONSTRUCTION ISSUE 13.10.2023
g co2 CONSTRUCTION ISSUE 26102023
a - - 1 _ ABL AS BUILT ISSUE 07.03.2024
A-A = REV MARK | REVISION DESCRIPTION REV. DATE
c e d EXECUTION CLASS 2
B-B D-D ompass Engineering

Whaley Road, Barnsley, S75 1HT

e e s Tel: 01226 298388 Fax: 01226 283215

- SECTION THROUGH
TYPICAL SECTION PROWALL SECTION THROUGH RIS s S
WINDOWS

(Sub Grades to b Determined 1o B85350) DRAWING TITLE
CONTRACT Wingates, Bolton

This Drawing is copyright and may not be STATUS AS BUILT

e Lo Lygrout witen 2oy "MODELLED BY | RK__|CHECKED BY: RK__| DESIGN CHECK : DD__] ISSUE : 18.09.2023

DO NOT SCALE OFF THIS DRAWING CONTRACT NO 223042 ‘ SCALE 120 125  1:35

DRAWING No PZSOerCELrZZrZZrDR'Y'OOO‘?'COZ‘ REVISION No. ABL




Tekla Structures

= (B) (c) H
== 6833 q 6833 - 6833 @ 6833 6833 6833 6833 6833 @
12890 !
——H ; ! ‘ ‘ 850 590
g | | ‘ ® 3325 | UB20 ¢ ‘ ‘ 325 1| UB20 ‘
= | { UB203*133" 313325 : | UB203*133" 313325 1
| Fp. 1 L f:’—,@z 3 UB203*133* wran . 1 UB203*133*
11890 L - | yB203:133 25 %_’- : 133*25 E 1 L UB203 13325 Ig) 1 33'25 g 7 B
! I iy = i ] Ly
| G B
| ‘ | | 0/7’87 | |
o | ‘ p=y 39, 63
8 | TOES | 1 3 0 D
‘ DOWN P 1+10155 \
} A q STAY STAY v STAY STAY
10090 g ; i ‘ ‘
I o |
s j — — — — — — — — \ \
! 9680 i B
8 } C Réwn;’ovém[? VOTIERS TRéArﬁo‘Ql/éND Réﬁi’o@é’ ﬂy\ \e\%\’b%-‘ ‘ P
i - ~~o - ~~_ - =~ - ~~- H ¢
9135 | _ - - Al - - -
M o ‘ \ [ u [ [ |5y 579 57 ‘
1 & ‘ UB457191°67 {luB406*140+39 UB4D6*140"39 UB406*140°3 ‘ UB406*178'74 h ‘
|
o
% ‘ <17 | |
-~ | 7870
| ' ‘ ] ‘
|
7! |
= HE | ST B &,
| | N [ [ 1 T \¢ 0‘79 1 T
S = 2 i X : : £ % 3 2
‘ | «§ //EEM\/ED Y OTH RS‘\\\ % g‘ = & .:f‘ %‘ 3 ;’;—,
5535 L, - ‘ Y H ” | ‘ s > g o J g = = 2
| 3 | T i _
2411 = } — = = E = =5 = = I = = — = = —— T = = = = = = = T = —
1= | ‘ ‘ ‘ ‘ ‘HEAVY DUTY STRUT SYSTEM| ' ! QJ ﬂ BRACING FINISHES ! !
2 } ﬂ}%/ 2473 ‘ 1887 2474 119 6714 IN WINDOW ZONE 360| (1140 5333 AT FFL -325
[
‘ [
|
3735 sy ﬂ
i \ [ELEVATION ON GL 11]
| | GABLE RAILS : +10155
8 | 2780
= | TOES KING SPAN M235065200 (GL A - C) ‘
oo KING SPAN M235065150 (GL C - J) .
2000 ‘ e i KING SPAN M235065200 (WINDOW TRIMMERS)
a0 | o 8
} 2 SINGLE SPAN SLEEVED JOINTS R ‘
I ‘I }[ EN J 2No TUBULAR TIESGLA-C
S I 970 _ _ _ - _ - - - - - _ _ _ 1No TUBULARTIESGLC-J +9935
e ; TOES — c \ ) ‘ r- | &) 2No SETS OF WIRES PER BAY
DOWN I
200 } / § | 601 ‘ ‘ 5630 602‘602 5630 602‘602 5630 ‘602 602 5630 602 D-D
- — 1 G oS | e
) L (B) D E
- - - -325 (D CHANGE IN CLADDING
GLH-JONLY
A-A B-B
(11)
TYPICAL SECTION] 'SECTION ON WINDOWS] 510 i
155, ' 65
“‘f‘* (11)
i T
|
. RSA125°75°8 - i ot | FLT10%220 f/, \l— ‘ I _
Jen ’ it WA Rorsrare
FIXED BY CLADDER | 241 ﬁf: _ _325
| L L) (s
I
|
J-J
141 - SECTION THROUGH L“*
o o 'S WINDOW HEAD MID SPAN PROP
- & 2 c-c FOR DOOR
o~ o~
= 5 — ENLARGED VERGE
- = e : DETAIL
CLADDING NOTE!
f': - *‘:Fj SCAFFOLDING, NETTING OR ANY OTHER ACCESS EQUIPMENT
-t (5 SHOULD NOT BE FIXED TO COLD ROLLED EAVESBEAMS, RAILS
v OR PURLIN MEWBERS WITHOUT THE EXPRESS PERMISSION POL FIRST ISSUE 29.09.2023
I - e - ’ col CONSTRUCTION ISSUE 13.10.2023
E (NI CLADDING NOTE ! Cc02 CONSTRUCTION ISSUE 26.10.2023
a - D (e O s so1_Lssaunriss
- E-E IS FIXED TO ALL PURLINS TO PROVIDE ADEQUATE REV MARK | REVISION DESCRIPTION REV. DATE
= - RESTRAINT T0 THE PURLINS. Comnacs Entimeering Lid EXECUTION CLASS 2
X ompass Engineerin
TYPICAL BRACING do S L DETAIL NOTE ! o Whal%y Roadg, Bamslgey, S75 1HT
= eel Grades: . .
OFFSET < ALL COLD ROLLED TO BE DETAILED IN ACCORDANCE WITH PFC/UGIUB = S355 Tel: 01226 298388 Fax: 01226 283215
1140 MANUFACTURERS HANDBOOK & DESIGN CALCULATIONS. FLTPLTRSASSTTS o e (ONO)
NO LOADING OF ROOF SHEETING ALLOWED UNLESS METHOD (Sub Grades {o be Determined to BS5950) DRAWING TITLE | Elevation on GL 11
FoF PROPOSED IS SPECIFICALLY APPROVED BY COMPASS CONTRACT Wingates, Bolton
ENGINEERING LTD PROJECT DESIGNER This Drawing s copyrghtand maynotbe | | STATUS AS BUILT
reroduced in whole of part without written authorty | ' \ODELLED BY | RK|CHECKED BY: RK__ | DESIGN CHECK : DD | ISSUE : 18.00.2023

[ENLARGED PERSONNEL DOOR)

CLEADER ANGLES TO HIPS & VERGE SUPPLIED BY COMPASS ENG LTD
AND FIXED BY CLADDING CONTRACTOR

from Compass Engineering Ltd
DO NOT SCALE OFF THIS DRAWING

CONTRACT NO | 223042

| scALE

1:20  1:25  1:50

DRAWING No

P23012-CEL-ZZ-ZZ-DR-Y-0005-C02 ‘ REVISION No.

AB1




Tekla Structures

e —
1= —
12890 H
o |
g
11890 H
|
|
o | TOES
S | DOWN
10090 17
e - a— ‘ﬁ?@
§ |
|
9135 L
|
|
s |
*x |
|
|
7335 W
|
|
o |
S |
~ |
|
5535 i
|
|
|
=3 |
s |
= |
|
3735 o]
|
1
Q |
2 | TOES
| DOWN
2000, F ]
241
il
=} |
g ! TOES
= |
| DOWN
200 L]
o
I8
- -325
A-A
TYPICAL SECTION|

6833

6833

*** FIREWALL CONDITION ***

6833

6833

|
6833 6833
\

| | A
B203*133*25 UB203*133*25 3

%)

6833 6833
\
|

E

u UB203*133'25 UB203*133+2
&E'i | | | | | E | | 7;9&]
! 0'95‘7 ! 0, Q
‘ 743 < ‘ »\b:-’
I I
\ \ \
| | | <7£ | | |
STAY 8 |[STAY] | O/ygs/
3 7
< N ‘ ‘ %
ﬂ S52 ‘ | s
{ | [STAY] |STAY | | [STAY]
A
J /96‘/ ,grbgﬁ
2 I %oy, 5 B g s = & 5 o
% r I ;’: [l ;— [ ;’: [l ;— [ E [l ;— [l %
5 2 g g e 2 3 g 5
5 PFC-180*75*2 = FC-180*75"20 = FC-180*75*20 = PFC-180*7520 = PFC-180*75*20—= PFC-180*75*2 = PFC-180*75*2 = PFC-180*75*2 3 (70)
= - = —— - = = = = = = = = f\fﬁf—f—fﬁ;f—f—f%;f—f—f—%f = 7 -
BRACING FINISHES BRACING FINISHES
ceo] [ao s |
\
ELEVATION ON GL 1 CABLE RALS
(FIREWALL CONDITIONS GLA - G) '
KING SPAN M235065200 (GL A - C)
@ KING SPAN M235065150 (GL C - J)
SINGLE SPAN SLEEVED JOINTS
2No TUBULAR TIESGLA-C
10155 No TUBULAR TIES GLC - J
No SETS OF WIRES PER BAY
- — - °
N RSA60*60*6 ‘ !
141
R &5
B @ G-G
] RSA12575'8 L
— — ! MID SPAN PROP
24 o FOR DOOR w0 | st
=z Y |
'CHANGE IN CLADDING| '
o — |
o . 2 L - 1
2 P BV BY CLABDER. | E-F
g § | 241
3 3 | TYPICAL BRACING
,‘ 4 OFFSET
C C
; i : —
I |
Tl i} ‘ENLARGED VERGE
B DETAIL
B-B
NOTES !
- 5 - CLADDING NOTE!
,J N SCAFFOLDING, NETTING OR ANY OTHER ACCESS EQUIPMENT
o SHOULD NOT BE FIXED TO COLD ROLLED EAVESBEAMS, RAILS
~ OR PURLIN MEMBERS WITHOUT THE EXPRESS PERMISSION P01 FIRST ISSUE 29.09.2023
1140 OF COMPASS ENGINEERING LTD. co1 CONSTRUCTION ISSUE 13.10.2023
CLADDING NOTE ! co2 CONSTRUCTION ISSUE 26.10.2023
i R e oy Lasounrissur
IS FIXED TO ALL PURLINS TO PROVIDE ADEQUATE REV MARK REVISION DESCRIPTION REV. DATE

[ENLARGED PERSONNEL DOOR)

RESTRAINT TO THE PURLINS.
DETAIL NOTE !
ALL COLD ROLLED TO BE DETAILED |

NO LOADING OF ROOF SHEETING ALl

CLEADER ANGLES TO HIPS & VERGE

MANUFACTURERS HANDBOOK & DESIGN CALCULATIONS.

PROPOSED IS SPECIFICALLY APPROVED BY COMPASS
ENGINEERING LTD PROJECT DESIGNER

AND FIXED BY CLADDING CONTRACTOR

Steel Grades:
PFC/UC/UB = S355
FLT/PLT/RSA = 8275

N ACCORDANCE WITH

LOWED UNLESS METHOD

CHS/RHS/SHS = 355 J2H Cold Formed (UNO)
(Sub Grades to be Determined to BS5950)

Tel: 01226 298388

Compass Engineering Ltd
Whaley Road, Barnsley, S75 1HT

Fax: 01226 283215

EXECUTION CLASS 2

DRAWING TITLE

Elevation on GL 1

SUPPLIED BY COMPASS ENG LTD from Compass Engineering Ltd

DO NOT SCALE OFF THIS DRAWING

This Drawing is copyright and may not be
reproduced in whole or part without written authority

CONTRACT Wingates, Bolton

STATUS AS BUILT

MODELLED BY | RK CHECKED BY: RK \ DESIGN CHECK : DD ISSUE : 18.09.2023
CONTRACT NO | 223042 ‘ SCALE 110 120 1:25
DRAWING No P23012-CEL-ZZ-ZZ-DR-Y-0006-C02 \ REVISION No. AB1




Tekla Structures

(1)

(100

6833

6833

6833

6833

6833

(10

(10)

[FLOOR PLAN - T.0.S +6670)

5600 5450
131 5469 B 5450 A |82
S \‘ | ! ! |
- _UBSAME'3L o poisanns
DECK DECK AN R -
NS 2 “ISTAR| 8 g
& = 5 ONE L |
£ |2 - ~
IIES 18— se. |
9 5 UB254*102°25 _ ~ |
3 : UB254*102°25
3
= ! 1 Asg R
o
UB254*102"25 g -
UB254*146*31 | |9
3 DECK &
14 UB254*102*25 | _ _UB254*102*25 i
s 18 1 5 1 g
N PR ¥ 9
@ © ~ © <
I3 2 g
> 3 S
o UB254*102"25 UB254*102"25
]
! !
|| [DECK
PLT
UB254*102°25 UB254*102°25
M~ T — — — —
I I
3 5 3
S 1 & 1 g =
3 5 i L 3
|8 2 g
[aa] [aa] [aa]
= > =
o UB254*102"25 UB254*102"25
]
5 1 1 ~
S| pECK 3
2 UB254*102°25 UB254*102°25 |
- — — — — — 1
3 5 3
~ 2 1 > 1 S ©
< N iy <
o © N~ © o
g 2 g
[aa] o [aa]
> > =
2 UB254*102°25 UB254*102°25
3
N~ N~
& 1 ! DECK &
DECK 62
PLT ¢ c PLT Ti
|t UB356"171*51 | UB305*165°40 =y
\ C B T
| & o
\
' B /ﬁ/ ! 8
\ K
\ /8 |luB254*102°25 UB254*102"25
[as)
< \\ // = &’B ;‘g
3 = R [ 1 E e
2 I | [STEELSTAIR 5 g &
© &gl| [BrofHers 3 s
@ SN UB254*102°25 || = UB254*102*25 >
[l I
// \\
/ \
o
Kk N [ l S
I \
)/ _uBsse7ts1 UB254*146"31
131 3083 2386
5600 5450

.o

150MM THK SLAB

540
3| | o 3435
] ‘ +10010 o
a m L L
E FLT10°200 o
i L]
3313 B
3| | o7 +6670 . 342
[T -
m L L 1 1 l
UB20313325 | |— -
FLT10"200 UB254"146°3] L UB203133'25
(= +5073 I
L 1 L 1 | |
UB203*133*25 g
32| | 190 g
[&]
— ‘ +3416 =
s| T |
;I FLT10*200 - _ _ Eﬁ [ (+0)
8 -— - — - g -325
= +1741
=
1 1 1 1 Il B _ B
UB20F13325 o
?
% ELEVATION ON STAIR
- =]
g i} } . HALF LANDING STEEL
DESIGN NOTES :
A-A 1st FLOOR LOADS -
130mm THK SLAB = 2.38 KN/m2
ELEVATION ON STAIR SERVICESICEILNG = 0.9 KNin2
INC RAISED FLOOR
HALF LANDING STEEL IMPOSED LOAD = 4.0 KNm2
PARTITIONS = 1.0 KNin2
PLANT DECK
150mm THKSLAB = 2.38 KNim2
SERVICES/CEILING = 0.4 KN/m2
IMPOSED LOAD = 7.5 KNm2
(SEE HATCHED ZONE)
DECKING NOTES :
DECKING = MD60 OR SIMILAR APPROVED
STUDS = 19mm DIA x 95 LAW
CONCRETE =(C30
C) DENOTES COMPOSITE BEAM WITH 1
TUD PER TROUGH
MESH = MIN A193 (SEE DECKING CALCS)
| =DECK SPAN
FIRE RATING 1 HOUR
TOP FLANGES UNPAINTED
MEWP:

THE FLOORS HAVE BEEN DESIGNED SUCH THAT A SKYJACK SJlll 3220/3226

CAN BE USED ON THE SLABS IN THE TEMPORARY CONDITION.
PLEASE REFER TO GUIDANCE FOR LIMITS OF USE.

+6670

+3406

150 310

SECTION THROUGH
HALF LANDINGS

STEP FLUSH WITH
WHITEWALL

(=3
o

SHUTTER BY
OTHERS FOR
CHANGE IN DEPTH

Steel Grades:

PFC/UC/UB = S355

FLT/PLT/RSA = 8275

CHS/RHS/SHS = 355 J2H Cold Formed (UNO)
(Sub Grades to be Determined to BS5950)

This Drawing is copyright and may not be
reproduced in whole or part without written authority
from Compass Engineering Ltd

DO NOT SCALE OFF THIS DRAWING

——
130

c-C

SECTION THROUGH TO
PLANT DECK / OFFICE

P01

FIRST ISSUE

29.09.2023

co1

CONSTRUCTION ISSUE

13.10.2023

Cco2

CONSTRUCTION ISSUE

26.10.2023

Co3

CONSTRUCTION ISSUE

01.11.2023

AB1

AS BUILT ISSUE

07.03.2024

REV MARK

REVISION DESCRIPTION

REV. DATE

EXECUTION CLASS 2

Compass Engineering Ltd
Whaley Road, Barnsley, S75 1HT
Tel: 01226 298388 Fax: 01226 283215

DRAWING TITLE

Floor Plans

CONTRACT

Wingates, Bolton

STATUS

AS BUILT

MODELLED BY

RK CHECKED BY: RK ‘ DESIGN CHECK : DD

ISSUE : 18.09.2023

CONTRACT NO

223042 | scaALE

1:30 150 175

DRAWING No

P23012-CEL-ZZ-ZZ-DR-Y-0007-C03 ‘ REVISION No.

AB1




av

5600 5450 ; 7950 ’m 8000 8000 ; 8000 8000 ; 8000 8000 8000 L
UB533*210%92 +12657 ‘ +12657 ‘ +12657 ‘ ‘ +12657 ‘ +12736
| . | N | . | . | . | . | . | | . | . |
A g ! UB533'210°92 i m il UB533210'92 il UB533210'92 il UB610'229"125 T = A
! ! | —11
7 4 % ~
8 7 AN
) 7z N
PFC-150°75*18 = 7 N
& z N
© © S 57 AN
ol 1o > 27 A
2 2 7 N
5 s z N
3 3 z N
3 3 z N
e g z X
af o 12 | Q|
L] M
UB356*171°51 UB305"165'40
| | | | |
2 2 2 ~
= = = =
< @ & & & ja
5 = g 8 8 2
& & £ £ £ T
< 8 2 e e &
8 g 8 8 g E
S 2 ] ] ] B
Ol ) | | |
E]
— - T = - i - - £ - - - - r - - - - - - - - Z - - s :@)
SECTION ON VALLEY LINE
KINGSPAN RNA
r TOP FLANGE KINGSPA\NNRNA
S TOP FLANG!
| i=] [l | | | f

1300
1300
]

1300
1 I8l l |
T
1300
1300
l l Il

f — — o
b 1300]|| 1300 Chs, 13001|| 1300 8 1300 || 1300 Chs 1300
r w3 T T U144 = 3 = 2 =
| o I 3, I oS I 36 E
an AT
A-A & &@
® &
& &
10)
‘ ?.10 : M- M
a C E 1010 2630 5450 164
= - - = - ﬁ RSABO'80°S T rensoreos Tts0
RILY M| | RSA80'80'6
Qo—p — - - |- e ,
P - 3 ] ) %
) = = oA e ]| 1310
700 1010 3890 ! ui —‘
g EE } i B, ‘ s 150 164
§ HORIZONTAL WHITEWALL] % —— D@j“glsuni = } ‘} :r.;’ |
L - - o _ _ = i zi] 1661 o L
s e = — g | @ =
- 5600 5450 & & EL, I = M  ——— =
e v 2 1 8 =
1 10 g === i = =
GaD (o : e ——= : I e
D — —
PLAN ON WHITEWALL (HORIZONTA| WHITEWALL J m =
AT GROUD FLOOR . o . L B . B . - ‘ SECTION THROUGH E
g| b-D DOOR/ STEP IN FLOOR|
=1 150 6833 6833 6833 6833
1 ‘ ELEVATION ON GL E
Qv LGS @™ © ® @y WHITEWALL @ 1ST FLOOR

1

PLAN ON WHITEWALL
‘l AT 1STFLOOR

]
| 3 | @
RSAS0'806 lf 11| || Roworos ‘ A @ H
)
9 & 1
& & ° o
TIIE ‘ 6833 6833 @ 6833 6833 6833 @ 2 & s D > .
< . 50 '80'6 | RSAB080%6 s | . ‘ +6670 & 3
8 | ‘ . , RoABO'B0"G  ROAB0800 ‘ RSAB0'80°6 | RSA§0'80'6 0 | RSAB0'80%6 RSABIOBOG @ NHHHHHHH &»\ HHHHHHH‘
| P( u | L — 8 S
= - - - —— UBAST* 19167 H UB457*19T67 Wﬁz d e © L
+191* B457 197757 —=——=1— )
5 St H—Uariorg ‘ PLAN ON WHITEWALL ey ‘
700} 3890 i i : 1f = SUPPORT (11) '€ (10D
g -G K- K L-L
; §
B-8B = —FoRZONTAL WHITEWALT =0 %
[:4
= i .
ELEVATION ONGLB i i * j o, L 30 | TYPICAL COLUMN PLAN ON R EWALL PLAN ON WHITEWALL
UNDERCROFT i =5 i = 1 SEATING CLEAT SUPPORT
i 3 | H TIED BACK INTO COLUMN
L] ) T 1) T = — : T H <
150]]] 150 150][[150 I 3
150 504 0 i 0 D)
164] [ K fE——— ]
. ‘, . o J i — —_——
g — = 17 2
g =L ‘ : f g
N[ < & 2 o g i S 5 &
5 & S & & g : g ——r% S ®
& 2 g N o i ; BN
an\ o - . 5 ===
® e e pege
0-0 l 29.09.2023
374 6833 PO1 FIRST ISSUE
co1 CONSTRUCTION ISSUE 13.10.2023
coz CONSTRUCTION ISSUE 23102023
— ELEVAT'ON ON GL 9 AB1 AS BUILT ISSUE 07.03.2024
= B WHITEWALL REV MARK | REVISION DESCRIPTION REV. DATE
N H EXECUTION CLASS 2
Compass Engineering Ltd
MM s oL
3 S e sass Tel: 01226 298388 Fax: 01226 283215
= FLT/PLT/RSA = 8275
10 e e o Do oot Emnee (N9 | D RAWING TITLE | Whitewall € Valley Section
CONTRACT Wingates, Bolton
P-P This Drawing is copyright and may not be STATUS AS BUILT
o gt witen authert  \IODELLED BY | RK__|CHECKED BY: RK \DEf\GN CHECK : DD__ | ISSUE : 18.00.2023
DO NOT SCALE OFF THIS DRAWING CONTRACT NO 223042 SCALE 120 150 175
DRAWING No P23012'CEL'ZZ'ZZ'DR'Y'OOOQ'Coz‘ REVISION No. ABL




	Structural Steelwork (Compass)
	P23012-CEL-ZZ-00-DR-Y-0001-FOUNDATION-PLAN-Rev.AB1
	P23012-CEL-ZZ-00-DR-Y-0010-GROUND-CHANNEL-PLAN-Rev.AB1
	P23012-CEL-ZZ-00-DR-Y-0011-Base-Types-page-1-of-3-Rev.AB1
	P23012-CEL-ZZ-00-DR-Y-0012-Base-Types-page-2-of-3-Rev.AB1
	P23012-CEL-ZZ-00-DR-Y-0013-Base-Types-page-3-of-3-Rev.AB1
	P23012-CEL-ZZ-RF-DR-Y-0008-ROOF-PLAN-Rev.AB1
	P23012-CEL-ZZ-ZZ-DR-Y-0002-Typical-Section-Rev.AB1
	P23012-CEL-ZZ-ZZ-DR-Y-0003-ELEVATION-ON-GL-J-Rev.AB1
	P23012-CEL-ZZ-ZZ-DR-Y-0004-ELEVATION-ON-GL-A-Rev.AB1
	P23012-CEL-ZZ-ZZ-DR-Y-0005-ELEVATION-ON-GL-11-Rev.AB1
	P23012-CEL-ZZ-ZZ-DR-Y-0006-ELEVATION-ON-GL-1-Rev.AB1
	P23012-CEL-ZZ-ZZ-DR-Y-0007-FLOOR-PLANS-Rev.AB1
	P23012-CEL-ZZ-ZZ-DR-Y-0009-WHITEWALL-ELEVATIONS-&-VALLEY-SECTION-Rev.AB1


